Quarterly Examination - 2018-19
MATHEMATICS
Class : XII
Time : 3 Hrs. 15 mints Full Marks : 100
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P ' Pprove that tan™ L2 —lcos"lz_ 2
4 9 2 5
ii eyl (210 2
| e |= M then find the valuc of x and y
x-y, |43 -2
iii jxseczx dx 2
™' Find the principal value of tan™ 1+ cos '_71 2
‘ v Show that the function f defined as follows is continuous at 2
Jx -2, 0<x<l
x=2 f(x)=42x" —x. 1<x<2
15x-4, 2ax
V' Evaluate: j' di 2
X—vx
VI Fyaluate Jfﬂﬂx— 2
x(x +log x)
vill 1 be alb+c) 2
| ~ Without expanding cvaluate i ca ble+a
1 ab cla+b)
ix " i =y 2
Differentiate sin™ ! il 1
\1 +x° )
X [2 -1 ) , N 2
if 4 :L s then show that 4> —44+31=0 Hence find 4
2 Prove by using properties that 4
a b ¢
a—b b-¢ c-a |=a +b +c’ =3abe
a+b h+e cta |
3 Solve by Martine’s rule x +2y+z = 1, 2x+3y +2z71 3xty-22=0 4
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If sin” x+tan” x = 5 Prove that 2x°.+1=+5

Solve sin™(1-x)-2sin '(x)=

| A

Proxethat
1 a*+he &
=—(a-b)b- c)(cfa)(a +h? +c)
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Differentiate tan~

(sinx) =a’

Find & o0
dx

x+ldx

Evaluate a) j
\/l_ X +3x+5

Evaluate a) Jtan™ Jxdx,

Find the product of matrices A and B ..

-2 3 1 -5 -14
A-{ 4 lland B=|-1 -1 2],

1 -3 2, -7 16
and hence solve the following equations; x-2y+3z=6 ,

xHdy+z=12, x-3y-2z=1

-2 3]

Find the inverse of the matrix 4 = [1 -4 1 } using elementary
1 =-3 =2
L

transformations
Evaluate jx/cot x.dx

\
I{log(]ogx%[ ! ].Zde
logx

Section B
(Only for Section 4 and B Students)

If the coordinates of 4 points are
A(23.4).B(5.4-11C(3,6,2),andD(12,0) then show that AB is
perpendicular to CD.
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